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Centre Number Candidate Number
Pearson Edexcel
Level 1/Level 2 GCSE (9 - 1)
‘Mathematics |
Paper 1 (Non-Calculator)
Foundation Tier
Mock Set 1 — Autumn 2016 Paper Reference
Jime: 1 hour 30 minutes TMA1 /1 F‘IJ
'fYc;u_ mu.st Bave: Ruler graduated in centimetres and millimetres, ;otal Marks
protractor, pair of compasses, pen, HB pencil, eraser.
Gracing paper may be used.
.., o

Instructions

Use black ink or ball-point pen.

Fill in the boxes at the top of this page with your name,

centre number and candidate number.

Answer ALL questions.

Answer the questions in the spaces provided

— there may be more space than you need.

Calculators may not be used.

Diagrams are NOT accurately drawn, unless otherwise indicated.
You must show all your working out.

Information

The total mark for this paper is 80.
The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every guestion.

Check your answers if you have time at the end.
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» .Answer ALL questions.

Write your answers in-the spaces provided.

You must write down all the stages in your working.

Write these numbers in order of size.
Start with the smallest number.

(Total for Question 1 is 1 mark)

Here are four cards.
There is a number on each card.

Studants dadin b read "
b e aveshon pr U‘DL’I’IH
(b) Write down the smallest 4-digit even number that can be made using each card only
once.

@)
(Total for Question 2 is 2 marks)

7
Write — as a percentage.
op PR e
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5 © v -

1 3L> L =
o 02 _ 354 . |
0 w00 3. %

x 9 (Total for Question 3 is 1 mark)

Pepcentage 1y “out of 100
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Work out 20% ﬂ £54.
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q0 7. =E10. 80 g 1080
(Total for Question 4 is 2 marks)
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(a) On the grid, mark with a cross (x) the point (—2, —3).
Label the point C.
1)
(b) Write down the coordinates of the midpoint of AB.
]rom Mo poin ts and Fin(l fhe  half wa 4 poin L
- 2

- ‘ ............. R U )
1)

(Total for Question 5 is 2 marks)
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pen 32p
pencil 8p
ruler 17p

Rosie has £15 to spend on pens and pencils.
She has to buy the same number of pens as pencils.

What is the greatest number of pens she can buy?
O Pen » LO. 32
Peacrl = £ o - OS

—..—-_—_-_-'—_—

to - Lo

@) Elg - ED-L&—Q)

xl(’)[ o 8

150 = k
3.5 '
4‘ ltﬁfc),ic) ........... ;i"il .....................

(Total for Question 6 is 3 marks)

(3) 37 pens
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7

Here are the ages of 16 men.

#7307 407 3% 3 3w W 39
w337 3 28 4 290 o 35
(@) Complete the table to show this information.
Age Tally Frequency
P50 Lt 9
30-32 i .
33-35 LA &y
36-38 \ i
39-41 | 1 2

@)

(h) On the grid, draw a suitable diagram or chart for the information in the table.

9 —
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‘!\*\ "9‘9 P(Se s s (Total for Q
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hars
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uestion 7 is S marks)
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8  The stem and leaf diagram shows information about the heights, in cm, of the boys in a class.

| o ¥

Key: 15 I 1 represents 151 cmn

5| v ¥ & & 7 -

16 | > A A K 5

17 :/ & 9 o’ Peod e haj ) fT-eL.mj
18 | @ e __)_{ ibl‘i) = bbb \

(a) Find the median height.

Renge = {1 - inQ < klem | YA -3 S em

(1)

The girls in the class have a median height of 162 cm. “
Their heights have arange of 45 em. . 5 {Jo(le cub (he r (ZLF\E'L’_ [C‘( bGﬂ\S

(b) Compare the distribution of the heights of the boys with the distribution of the
heights of the girls.

.............................................

(Total for Question 8 is 3 marks)
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The formulae below can be used to work out the cost, £C, of a taxi journey of x miles

9
with three different taxi companies.
Reliable Taxis Speedy Taxis City Taxis
E=15x C=1lx+115 C=125x+8
Which is the cheapest company to use for a taxi journey of 30 miles?
You must show how you get your answer.
Roliable  Tax1S Spmd}j lasis C‘}S BEREN
C-1%x 30 C=1.1x30) +11.5 C= 1 28 #30) ¢ &
- P33 +11.90 < (37.50 + 8
— - 'C. .
- EhS : £31.50
EA% .0 0 +E € 00
el 90 S
Ey5-950
E 44 S5O ‘

C ELl-20)) *EkS.50

59\.&([3 {lovars 15

the chacpest
Compcmﬂ lo use

(Total for Question 9 is 3 marks)
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(a) On the grid, translate shape A by the vector

(6J e o R‘Sh\' - left

5
—) i -
Label the new shape B. (Q i Ej UP Y4 J Down
5 b 1)
: -8) ¥ &
(b) On the grid, translate shape B by the vector
8) g4
Label the new shape C.
@
(¢) Write down the column vector for the translation that maps shape A onto shape C.
X\ -9 -}
3
y /3
0

(Total for Question 10 is 3 marks)

S52623A
© Pearson Education Ltd.



11 (a) Simplify Q@@@
%

c‘))-lz- 5 9‘3
NoT o8 NOT gt .2y
— (1)

implity |3+ 79 A
® S plnrl_'s’g‘%@

1!3 o ol SC{_

)
(¢) Expand 6@
|2 - |8
....... (Lon 1%
1)
(d) Solve 7f +6=27
BALANCE o  JOURNE ™
"]thlcza_l J;ﬁ-—') x7T —=+b =2 )7
G A -3 ;:’
; L e A
5 o @reeeta
2l —a 71 )
} = 3 ‘ (Total for Question 11 is 6 marks)

_Ched&.‘
Tx(3)+ b = Qj/
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12 60°people each took a driving test one day.

21 of these people were women. SR 8 Ve -
18 of the 60 people failed their test. -- ) v
27 of the men passed their test. W\&’Qrﬂ\ ah oY

(a) Use this information to complete the frequency tree.

. pass@
M 5 60 -21= 34

e .

Faaled Men > 39 -271 = 12

women

Faled 2 18 -12= b

ussed women > 21-b -
\S

P

3)
One of the men is chosen at random.
(b) Work out the probability that this man failed his test.
12 _
e [F}
A4 39
)

(Total for Question 12 is 5 marks)
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13 This shape is made from two rectangles.

2.05cm | Axd = B oe Tl =
QCM J{L,ml . ,
» o 35 ™ 5.020m i )
9_( o - -\6(-(\(\ 86(-”’\ *-L\—U'Y\ =2
Aem ™
737cm —

) . ) e
(a) Work out an estimate for the total area of the sﬁa{f)\e.

I
Ef)\'\mc'fthi- > l S\%ﬂ\?\t@ﬂ\' (J{SLUQ

3)
(b) Is your answer to (¢) an overestimate or an underestimate?
Give a reason for your answer.
Undecestialg.. a5, measccemenks...were . rouncloch......
..... o (P04 T
)

"(Total for Question 13 is 4 marks)

14 A cafe sells cakes and scones.

On Tuesday, the ratio of the number of cakes sold to the number of scones sold was 5 : 2
On Tuesday, the cafe sold 80 scones. &= (Not €O ("‘tl\'ﬁcj ehwor )

How many cakes were sold on Tuesday?

CC\PULS ; 5 wn€ S

“ : 0
w0 C ) L0
: OO0, cokes..
200 %O

Tues (\G‘ﬂ
' (Total for Question 14 is 2 marks)

————n.
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15 ABCDis akite with AD = AB

Angle  ADC and Angle ABC

e Th same |

Find the size of the smallest angle of the kite.

() Do IgT o= Do

"1)(
3¢
4 hi-—l

A

hiE

-dac

-iy1 = O
£

= 1yl
%3

= kA

@) Shobite X to Rnd e
valur of he angie S

@ Find e Missing cmgle |

116
+ 48
4%

3]

360 -3\ = k¥

Smallest CU\SUL > ht

.........................................

(Total for Question 15 is 4 marks)
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500 > 1000+ L. Sem®:

(Total for Question 16 is 2 marks)

17  Work out 23—1E
5 6

® Turn fo wmproper frachons

13 i
@ C'hm\ge lo  common (\&f\(‘r(fl\(\(l]'(‘)’\iﬁ and  make ;FVQ NS
cauiy ohen t
-8 55 43
20 30 30

() Subtrack Numeratevs .

(Total for Question 17 is 3 marks)
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18

V4

8

7

6 55

5

) : 2

3 S

5 : - Gradient

it . § Qkuﬂgﬁlﬂ 9
3~mk@(gpt,23, . %huﬁgeln,ﬁt

4 1 2 3 4 5 %

C-
Phone calls cost £ y for x minutes.

The graph gives the values of y for values of x from 0 to 5. .
wiere T Cuks The - oncts
(a) (1) Give an interpretation of the intercept of the graph on the y-axis.

Lhlecgobsosses. e, yooas.. shows. fhe. Sixed. .charg e

...w.hiLh...L_S.....tY.Lu...&f.a:Cimg ...... UL f&r.....()....m.f.nu.fﬁ.ii ....................................

5 how Steopy The Lng 1S
(i) Give an interpretation of the gradient 2)f the grgph.

Lradien k.. showa. how U Ch D POLE. 0L ASCE
...i..u.e..r.g....mmul:ﬁ.... ................................................................................................................ |
2) |
(b) Find the equation of the straight line in the form  y=mx+c_
Mm - %ruc\\(ﬁﬂt’ (jkcmgﬁ N t;\_ 3 5 o lkave OS ‘;‘
d\cm%e W D
C= Where \b crosses e LJ-muS > +0.9
................... gzl St 0.5
Pk Mem o e equothen -
= | 5x +0.5 (Total for Question 18 is 5 marks)
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19  ABCDE is a pentagon.

4cm

4cm

8cm

Work out the area of ABCDE.
Brea of T bnang L

B

N ewol pupenc\toul O Mghk
©Pyhoaoras

710
Ao %QL\ -
1 as - =
fLO(C‘m J’E\zg

® hreo of e tnongle
Ly h s Popendicul.or
27 haghk

2
: :L 3: 'ﬁ(ﬁ’\g_

@ P\TQOL OP b\ﬁt e d?@lﬂau

1

e
e —

Bl

Bem « Lon = 5lu‘f\a

L) Add e oreas Yogdw ‘
Qe v Blom” Lo

. ———

(Total for Question 19 is 5 marks)
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20 On Monday, Tarek travelled by train from Manchester to T.ondon.

Tarek’s train left Manchester at 08 35
It got to London at 11

The train travelled at an average speed of 110 miles per hour. .

On Wednesday, Gill travelled by train from Manchester to London.

Gill’s train also left at 08 35 but was diverted.
The train had to travel an extra 37 miles.
The train got to London at 11 35

Work out the difference between the average speed of Tarek’s train and the average speed

of Gill’s train.

TOur e h

Time

¥ 35 -1l 09
L howrs and 30 minutes

Spead. t NOmph
find  dustance

Torehs hawn %p-eqd ) llOmph

Olterence s lomph .

Wox 2.9° d18mues .

(i)
3 hours
Diston ce & A19 + 371 = )
31 e s
F\nd Sp-{’_Qc,l
Al 33 \C)Ufmph

........................ (D miles per hour
(Total for Question 20 is 4 marks)
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21  The diagram shows a rectangular wall.

E(pu.p . Vil DSOU"‘

"TTTTT\_lTTr: L Y

6m
~ i S =
Frank is going to cover the wall with 1'eé%n?gth}alot?]es. A , B, 2o
Each tile is 60 cmby 30 cm.  (, = () (obm = \O " '

%ofthetiles will be white. .o 2 O . A = lo

Some of the tiles will be green.
The rest of the tiles will be blue.

The ratio of the number of green tiles to the number of blue tiles will be 1 : 3
(a) Assuming there are no gaps between the tiles, how many tiles of each colour will Frank need?
® Re 10 Slobs owoss ond up
At GO stabs v e wall

e

@T%\?P/(go - 3 white WS
N

@ 2l bles bt 30

white tiles ...... S

@) Creen bl W L= b green tiles CD ...........................
" C \ . | 3 )’,ﬂ 0 blue tiles ........ S
o . \% (5)

Frank is told that he should leave gaps between the tiles.

(b) If Frank leaves gaps between the tiles, how could this affect the number of tiles he

needs?
B LT T T LW T T TY A —G———
)
(Total for Question 21 is 6 marks)
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22 On Monday Ria delivered a parcel to a hospital. (
The travel graph represents Ria’s journey to the hospital.

4

4@ Hogpitq

Distance \

from home

(miiejéc Bracik ‘\

'3 O;(-«l 1330 oo o IR0 1S30 1600 kA0 N T, @bb
me ‘ \‘;_‘7 q_)})
, . SSIe
Ria left home at 13 00 Sl buvd _ SO RV
She drove for 30 minutes at a constant speed of 40 mph. —s 3C) in \,\"'E S5 N Ny

She then stopped for a break.

L\O miles = b howe
Ria then drove to the hospital at a constant speed. C 2
She was at the hospital for 30 minutes. @ ples = 30 ke

She then drove home at a constant speed of 32 mph.

10 mies hone ok Zmph
Show that she does not arrive home before 16 30 \__L:U s home uk 3/() D

Il\ié_- i\\mt z _LLQ,
- e
Wl oraph as yow g0 alon g 3
y o J - 1.25

e Ao Yo work ouwt
ths vl help heur 000 1S mnukes

e GLme ab Twe end

The Qru{_\\f\ Shows R yould 8Qt home OF lothd ond nok
lo ' 30 .

(Total for Question 22 is 4 marks)
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23 A number, y, is rounded to 2 significant figures.

The result is 0.46.

Write down the error interval for y.

B N R [ |
0,145 0. k89 0 hb 0.hbd 0.1

wWale o Sugmfum& J}(ju\,rg; o |
ﬁ\h’](x_jr c)\d\& (ﬁ P Ll-b ‘ FW\C\ R Dol Bty i Blnonereconms e e
um bers h@l&:b \Jgﬂ | (Total for Question 23 is 2 marks)

24 Write 360 as a product of its prime factors.

360

/ 0\

@ 150
/ N\

() 0

3 2 L
= & xd XD
3 2
7 %x 2 %9
(Total for Question 24 is 3 marks)
TOTAL FOR PAPER: 80 MARKS
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